SHESE ||[EHR) L [mervomros | ||BE 159

R
T fH a0 40 =

@ FITNIAED@EME L "RIxFHI ) THEBL

| 9\0/\0? ) e J/_?

%

Lan ~ & o7

BH ~X7PxBh

VAN

it

. i
-

it

o
-

Il

it

o

€O =rmamoEmEERDES (1054
(1) (2)

/ Tcm / i
L o = "'56cm
""""" Qcm-T i

%% 63cm? %% 60cm? %&}1 17.5cm?

5cm

© EDH7.2cm BEHECMOFTHIH OEFERDELLD [54]

7 7.2X5=36 B3 36cm?2

€) ®EIH3.8cm. EEH22.8cm*DFFTMBHDBEIERDELELD (104

A 22.8+3.8=6 %%  6cm?

Q EEH9.9cm. &EH4.4cmDETINLFE
HEIPFLWFETULEDPHIET
COEFTOUBEDEDDS12cmDEX . HZIXAcMTITHN? [104]

#£  9.9X4.4-+-12=3.63 # % 3.63cm

©#FIZ®ch @ misonya.com




SHESE ||[EHR) L [mevomro4 | ||BE 159

R
T fH a0 40 =

@ coEmE K (LE+TE)xET -2, THE3L

' m ) L& LE o+ TE

RUaREaDEsL \ 2 O AT O A K
THOEREEE ) [ey! dmmak | ROKLEROBHO2ELLA,
AAS 5 (F2) RTNFLLA,

L3 N & 0T

BH ~X7PxBh

(1) 5cm L& (2) ldcem ti&

12cm T

K2 42 5cm?

O LELESHTom. FESLELYICMRVAHOERERDES (54]

(7+7+3)X7+2=59.5 v 59 5cm?

N
€) mEEHBOCM? BENSCMTTEN17TemOARIBYET.
ZOEHO LREFAcMTIA? [102]

80x2+-5—17=15 %% 15cm?

S

O —2r65cmMOEFHEERPELVAHSBUET.
ZDBEFDEENICcMDEZ ., ERETEDOMIEFcmTI H? [10=]

= 6.5X6.5X2+-5=16.9 %% 16.9cm

©#FIZ®ch @ misonya.com




	MS_5_sansudrill_32_shikakumenseki1_3A
	MS_5_sansudrill_32_shikakumenseki1_4A

